
**A2*R
(Production date 08/03)

Toyota Genuine Audio

INSTALLATION INSTRUCTIONS

FOR

TOYOTA MOTOR CORPORATIONManual Ref. n° A3RA2/W-2-0

RAV4 (RHD) - MMC



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  3 11-03

TABLE OF CONTENTS

1. Audio Application Chart ............................................................................................................................................. 4

2. System Layout ........................................................................................................................................................... 6

3. 1.4Din Audio Installation ............................................................................................................................................ 7

4. Wide 2Din Audio Installation ...................................................................................................................................... 10

5. Seat Mounted CD-Changer Installation (Passenger Seat) .......................................................................................... 12

6. Subwoofer Installation ............................................................................................................................................... 19



0.
6 

C
D

-C
ha

ng
er

 (o
ra

ng
e)

 (0
86

01
-0

09
14

)
0.

6 
C

D
-D

ec
k 

(o
ra

ng
e)

 (0
86

01
-0

09
09

)
Se

at
 m

ou
nt

 C
D

-C
ha

ng
er

 T
M

04
61

 (0
86

01
-0

09
12

)
N

av
ig

at
io

n 
Sy

st
em

 T
N

S3
00

 (0
85

45
-5

28
00

)

1
R

ad
io

/C
as

se
tte

 (o
nl

y)
08

60
0-

00
96

4 
(o

ra
ng

e)
C

ov
er

 p
la

te
 (5

55
22

-4
20

10
)

2
R

ad
io

/C
as

se
tte

 +
 C

D
-D

ec
k 

08
60

0-
00

96
4 

(o
ra

ng
e)

-

3
R

ad
io

/C
as

se
tte

 +
 C

D
-C

ha
ng

er
 

08
60

0-
00

96
4 

(o
ra

ng
e)

-
08

60
0-

00
96

4 
(o

ra
ng

e)
C

ov
er

 p
la

te
 (5

55
22

-4
20

10
)

08
60

0-
00

96
4 

(o
ra

ng
e)

   
  (

1)
F/

K 
(0

86
95

-0
08

03
) +

 C
ov

er
 p

la
te

 (5
55

22
-4

20
10

)

4
R

ad
io

/C
D

 (o
nl

y)
08

60
0-

00
96

6 
(o

ra
ng

e)
C

ov
er

 p
la

te
 (5

55
22

-4
20

10
)

5
R

ad
io

/C
D

 +
 C

D
-D

ec
k

08
60

0-
00

96
6 

(o
ra

ng
e)

6
R

ad
io

/C
D

 +
 C

D
-C

ha
ng

er
08

60
0-

00
96

6 
(o

ra
ng

e)
-

08
60

0-
00

96
6 

(o
ra

ng
e)

C
ov

er
 p

la
te

 (5
55

22
-4

20
10

)
08

60
0-

00
96

6 
(o

ra
ng

e)
   

  (
1)

F/
K 

(0
86

95
-0

08
03

) +
 C

ov
er

 p
la

te
 (5

55
22

-4
20

10
)

   
7

(R
ad

io
/C

as
se

tte
/C

D
) +

 C
D

-C
ha

ng
er

M
O

P
   

  (
1)

C
on

ve
rs

io
n 

H
ar

ne
ss

 0
86

95
-0

03
70

  +
 F

/K
 (0

86
95

-0
08

03
)

 +
 A

D
D

-O
N

 U
N

IT
(S

)

H
EA

D
 U

N
IT

C
O

M
B

IN
A

TI
O

N
R

EQ
U

IR
ED

 A
D

D
IT

IO
N

A
L 

PA
R

TS

1.4  DIN Head-Unit Full Map Navigation

A
U

D
IO

 &
 N

A
V

IG
A

T
IO

N
 A

P
P

L
IC

A
T

IO
N

 C
H

A
R

T
T

M
M

E
-C

S
 g

ro
up

 -
 N

ov
em

be
r 

17
th

, 2
00

3
R

A
V

4 
M

M
C

 *
*A

2*
(R

H
D

)

p. 1/2

M
O

P
: 

F
ac

to
ry

 in
st

al
le

d 
op

tio
n 

 -
  

 (
*)

: 
O

ut
si

de
 t

em
pe

ra
tu

re
 s

en
so

r 
P

Z
43

2-
R

03
10

-0
0 

ca
n 

be
 r

et
ro

-f
itt

ed
. 

  
- 

 S
ub

w
oo

fe
r 

P
Z

08
69

1-
00

83
4:

 O
n 

th
e 

flo
or

 u
nd

er
 t

he
 p

as
se

ng
er

 s
ea

t 
(if

 f
re

e)
F

/K
 0

86
95

-0
08

03
: 

H
an

gi
ng

 s
ea

t 
m

ou
nt

in
g 

ki
t 

  
- 

  
(1

):
 H

an
gi

ng
 u

nd
er

 t
he

 p
as

se
ng

er
 s

ea
t 

  
- 

  
(2

):
 O

n 
th

e 
flo

or
 u

nd
er

 t
he

 p
as

se
ng

er
 s

ea
t



0.
6 

C
D

-C
ha

ng
er

 (o
ra

ng
e)

 (0
86

01
-0

09
14

)
0.

6 
C

D
-D

ec
k 

(o
ra

ng
e)

 (0
86

01
-0

09
09

)
Se

at
 m

ou
nt

 C
D

-C
ha

ng
er

 T
M

04
61

 (0
86

01
-0

09
12

)
N

av
ig

at
io

n 
Sy

st
em

 T
N

S3
00

 (0
85

45
-5

28
00

)

 +
 A

D
D

-O
N

 U
N

IT
(S

)

H
EA

D
 U

N
IT

C
O

M
B

IN
A

TI
O

N
R

EQ
U

IR
ED

 A
D

D
IT

IO
N

A
L 

PA
R

TS

A
U

D
IO

 &
 N

A
V

IG
A

T
IO

N
 A

P
P

L
IC

A
T

IO
N

 C
H

A
R

T
T

M
M

E
-C

S
 g

ro
up

 -
 N

ov
em

be
r 

17
th

, 2
00

3
R

A
V

4 
M

M
C

 *
*A

2*
(R

H
D

)

8
R

ad
io

/C
as

se
tte

 (o
nl

y)
M

O
P-

U
ni

t 
-

or
 0

86
00

-0
09

54
(o

ra
ng

e)
 (*

) 
-

9
R

ad
io

/C
as

se
tte

 +
 C

D
-C

ha
ng

er
 

M
O

P-
U

ni
t

   
  (

1)
F/

K 
(0

86
95

-0
08

03
)

or
 0

86
00

-0
09

54
 (o

ra
ng

e)
 (*

) 
   

  (
1)

F/
K 

(0
86

95
-0

08
03

)

10
R

ad
io

/C
as

se
tte

 +
 N

av
ig

at
io

n 
(T

BT
)

M
O

P-
U

ni
t 

   
  (

2)
or

 0
86

00
-0

09
54

(o
ra

ng
e)

 (*
) 

   
  (

2)

11
R

ad
io

/C
as

se
tte

 +
 C

D
-C

ha
ng

er
 +

 N
av

ig
at

io
n 

(T
BT

)
M

O
P-

U
ni

t
   

  (
1)

   
  (

2)
F/

K 
(0

86
95

-0
08

03
)

or
 0

86
00

-0
09

54
(o

ra
ng

e)
 (*

) 
   

  (
1)

   
  (

2)
F/

K 
(0

86
95

-0
08

03
)

12
R

ad
io

/C
D

 (o
nl

y)
M

O
P-

U
ni

t
-

or
 0

86
00

-0
09

59
 (o

ra
ng

e)
 (*

) 
-

13
R

ad
io

/C
D

 +
 C

D
-C

ha
ng

er
 

M
O

P-
U

ni
t

   
  (

1)
F/

K 
(0

86
95

-0
08

03
)

or
 0

86
00

-0
09

59
 (o

ra
ng

e)
 (*

) 
   

  (
1)

F/
K 

(0
86

95
-0

08
03

)

14
R

ad
io

/C
D

 +
 N

av
ig

at
io

n 
(T

BT
)

M
O

P-
U

ni
t

   
  (

2)
or

 0
86

00
-0

09
59

 (o
ra

ng
e)

 (*
) 

   
  (

2)

15
R

ad
io

/C
D

 +
 C

D
-C

ha
ng

er
 +

 N
av

ig
at

io
n 

(T
BT

)
M

O
P-

U
ni

t
   

  (
1)

   
  (

2)
F/

K 
(0

86
95

-0
08

03
)

or
 0

86
00

-0
09

59
 (o

ra
ng

e)
 (*

) 
   

  (
1)

   
  (

2)
F/

K 
(0

86
95

-0
08

03
)

Wide 2-DIN Head-Unit

p. 2/2

M
O

P
: 

F
ac

to
ry

 in
st

al
le

d 
op

tio
n 

 -
  

 (
*)

: 
O

ut
si

de
 t

em
pe

ra
tu

re
 s

en
so

r 
P

Z
43

2-
R

03
10

-0
0 

ca
n 

be
 r

et
ro

-f
itt

ed
. 

  
- 

 S
ub

w
oo

fe
r 

P
Z

08
69

1-
00

83
4:

 O
n 

th
e 

flo
or

 u
nd

er
 t

he
 p

as
se

ng
er

 s
ea

t 
(if

 f
re

e)
F

/K
 0

86
95

-0
08

03
: 

H
an

gi
ng

 s
ea

t 
m

ou
nt

in
g 

ki
t 

  
- 

  
(1

):
 H

an
gi

ng
 u

nd
er

 t
he

 p
as

se
ng

er
 s

ea
t 

  
- 

  
(2

):
 O

n 
th

e 
flo

or
 u

nd
er

 t
he

 p
as

se
ng

er
 s

ea
t



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  611-03

2. SYSTEM LAYOUT

2.1 CD-CHANGER INSTALLATION UNDER THE PASSENGER SEAT

NOTE:
To install the CD-changer in hanging position under the passenger seat, you will need the seat-mounted 6 CD-changer
TM0461 (08601-00912) and the seat-mounting kit F/K (08695-00803).

9

5



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  7 11-03

3. 1.4DIN AUDIO INSTALLATION

1. Remove the covers and .
: Clip (6x)

21

2. Remove the centre cluster panel .
: Clip (3x)

: Screw (2x)100

3

Fig. 1

Fig. 2

2
1

3. Remove the accessory boxes or
cover plates .

: Screw (4x)101
5

4

Fig. 3

4 5

101

or

3

100



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  811-03

6.
a) Fit the 0.6-DIN cover plate .
b) Mount the brackets (2x) onto the 1.4

DIN combo and 0.6DIN cover plate
.

: Screw (6x)102
3

1

6
3

Fig. 6

6

3

1

102

IN CASE OF 1.4DIN COMBO 
+ 0.6DIN COVER PLATE

4. Remove the brackets and panels
from the cover plates .
: Screw (8x)102

57
6

Fig. 4

(R)

(R)

(L)

(L)

5

7

6

6

7
102

102

5. Mount the brackets (2x) onto the 1.4
DIN combo and 0.6DIN add on unit

.
: Screw (8x)102

2

1

6

Fig. 5

6

2

1

102

In case of 1.4DIN Combo 
+ 0.6DIN Add on unit

For part number see audio applica-
tion chart pages 4 to 5.

NOTE



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  9 11-03

Fig. 7

7. Before fitting the assembly (1.4DIN
combo + 0.6DIN add on unit or 1.4DIN
combo + 0.6DIN cover plate) to the
vehicle, remove the adhesive tape
securing the vehicle connectors (18P

, 12P , 10P , 6P ) and anten-
na plug .14

13121110

9

8

12
13 14

11 10

9

Fig. 8

11

1213

10

14

4

8. Wrap the surplus connectors (18P ,
12P ) with tape, and connect the
vehicle connectors (10P , 6P )
and antenna plug to the assembly.
Affix to the connector harness with
tape to prevent noise.4

14

1312

11

10

Fig. 9

9. Install the assembly (1.4DIN combo
+ 0.6DIN add on unit or 1.4DIN combo
+ 0.6DIN cover plate).

: Screw (4x)101

8
101

8
ENSURE THAT ALL

REMOVED CONNECTORS
ARE PUT BACK CORRECTLY.

REFIT THE TRIM AND
REMOVED PARTS.



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  1011-03

4. WIDE 2DIN AUDIO INSTALLATION

1. Remove the covers and .
: Clip (6x)

21

3. Remove the accessory boxes or
cover plates .

: Screw (4x)101
5

4

Fig. 12

2. Remove the centre cluster panel .
: Clip (3x)

: Screw (2x)100

3

Fig. 11

Fig. 10

2
1

4 5

101

or

3

100



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  11 11-03

4. Remove the brackets and panels
from the cover plates .
: Screw (8x)102

57
6

Fig. 13

(R)

(R)

(L)

(L)

5

7

6

6

7
102

102

5. Mount the brackets onto the audio
assembly .

: Screw (8x)102
8

6

Fig. 14

(R)

(L)

8

6

6
102

102

For part number see audio applica-
tion chart pages 4 to 5.

NOTE

6. Before fitting the audio assembly to
the vehicle connect the vehicle audio
connectors (10P/6P), the AVC-connec-
tor (12P), the display connector (18P)
and the antenna.

: Screw (4x)101

8

Fig. 15

8

101101

ENSURE THAT ALL
REMOVED CONNECTORS

ARE PUT BACK CORRECTLY.
REFIT THE TRIM AND

REMOVED PARTS.



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  1211-03

5. SEAT MOUNTED CD-CHANGER INSTALLATION (Passenger Seat)

1. Remove the covers and .
: Clip (6x)

21

2. Remove the centre cluster panel .
: Clip (3x)

: Screw (2x)100

3

Fig. 16

Fig. 17

3. Remove the accessory boxes or
cover plates .

: Screw (4x)101
5

4

Fig. 18

2
1

4 5

101

or

3

100



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  13 11-03

4. Remove the passenger seat .
: Bolt w/washer (4x)
: Cover (2x)104

103
15

Fig. 19

15

104 103

Fig. 20

Fig. 21

16

4

17

18

105

6. Cut the tape into 10 pieces.4

5. Remove the front door scuff plate 
(L) and kick panel (L) and side 
cover (L).

: Clip (1x)
: Nut (1x)105

106
18

17

16

106



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  1411-03

Fig. 22

7. Route the changer wire and attach
using tape . 

: Tape (7x)4

4

5

Check that the wire is not stressed
when the seat is moved to the front
most or to the rear most position.

5
CAUTION

4

5

570mm

9. Remove the side cover (L) and the
knob of the passenger seat .

: Screw (2x)107
1521

20

20

15

21

107

Fig. 23

5To Audio unit

25

Tape
Not connected

Not connected

ONLY IN CASE OF FULL MAP NAVIGATION

8. Connect the conversion harness 
(08695-00370).

25



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  15 11-03

Fig. 24

10. Route the changer wire and attach
using tape and a wire tie . 

: Tape (4x)
: Wire tie (1x)12

4

124

5

4

5

12

200m
m

15

11. Fit the side brackets (2x) and the
dampers onto the CD-changer 
using nuts and bolts .

: Bolt (M5x9) (4x)
: Nut (M6) (4x)
: Damper (“6CDN” Mark) (4x)14

15

16

1615

914

13

Fig. 25

Loosen the screws before moving
them. Screw up after the position is
changed.

108
CAUTION

Holes Location

CAUTION

9

15

13

16

14

Left “6CDN”mark Right “6CDN”mark

108



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  1611-03

12. Fit the sub bracket (R) to the side
bracket (R).

: Bolt (M5x9) (2x)16

18

17

Fig. 26

13. Fit the sub bracket (L) to the side
bracket (L).

: Bolt (M5x9) (2x)16

20

19

Fig. 27

Hole Location ‘D’ Hole Location ‘B’

Hole Location ‘B’ Hole Location ‘D’

18

18

20

2019

16

19

16
17

17



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  17 11-03

14.
a) Fit the sub bracket (R) together with

the side bracket (R) and the spacer
onto the passenger seat right

hand.
: Bolt (M6x12) (2x)
: Bolt (M6x25) (1x)

b) Replace the side cover (R) onto the
passenger seat right hand.15

20
23

22

1521

18

17

Fig. 28

1522

2123

17

18

Turn over

Holes (3x)

Fig. 29

15 22

21 23

20

19

Turn over

Holes (3x)

15. 
a) Fit the sub bracket (L) together with

the side bracket (L) and the spacer
onto the passenger seat left

hand.
: Bolt (M6x12) (2x)
: Bolt (M6x25) (1x)

b) Replace the side cover (L) and the
knob onto the passenger seat
left hand (see figure 23).

1521
20

23

22

1521

20

19

16. Connect the changer wire to the
CD-changer .9

5

Fig. 30

5

9



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  1811-03

Fig. 31

17. Fit the CD-changer to the sub
brackets (R) + (L), under the
passenger seat using nuts .

: Nut (M6) (4x)15

1515

1917

9

9

17
19

17

19

15

15

15

9

ENSURE THAT ALL REMOVED CONNECTORS
ARE PUT BACK CORRECTLY.

REFIT THE TRIM AND REMOVED PARTS.



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  19 11-03

6. SUBWOOFER INSTALLATION

1.
a) Fit the attachment bracket to the

subwoofer .
: Bracket (2x)
: Screw w/washer (4x)
: Screw (4x)

b) Fit the cushion tape to the sub-
woofer .

: Cushion tape (10mm) (2x)31

27

31

29

28

26

27

26

Fig. 32

Fig. 33

20mm

20mm

100mm

45mm

249mm75mm

28
26

29

31

27

2. Cut the carpet as shown in the illustra-
tion.



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  2011-03

Fig. 34

3. Cut the tape (10 pieces).4

Fig. 35

4

4

3027

4.
a) Pull back the floor carpet .
b) Route and tape the subwoofer wire

harness as shown.30

27

Fig. 36

5. Connect the subwoofer wire harness
to the 10P audio connector of the

vehicle wire harness and to the audio
unit.

30

30

10P

Audio



RAV4 (A2) TOYOTA GENUINE AUDIO

RAV4 (RHD)  -  21 11-03

Fig. 37

6. Before installing the subwoofer adjust
the high cut and gain to the correct
position as shown in the illustration.

Fig. 38

7.
a) Separate the felt from the floor car-

pet .
b) Fit the base bracket to the floor car-

pet and attach the cushion tape .
: Base bracket (2x)
: Cushion tape (5mm) (2x)

c) Replace the felt and floor carpet .
d) Fit the subwoofer to the base brack-

et using the nut and cap .
: Cap (4x)
: Nut (M5) (4x)

e) Connect the subwoofer wire to the
subwoofer .27

30

33

34

343332

27

2728
31

32

3127
32

27
28

27
34

27

33

30

32 31
28

ENSURE THAT ALL REMOVED CONNECTORS
ARE PUT BACK CORRECTLY.

REFIT THE TRIM AND REMOVED PARTS.



GENUINE PARTS


